lep

8000 GeV pp tt

<O T - r T T T 7 T T T T

[ ! Svenis - - _

0.1 AC VS yttbar (ttevents, parton level information) N

oogl. ™ ©MS ]

' — —&— Pythia 8.308 default —

| --+-- Pythia 8.308 tune-4c ]

0.06 —~ = Pythia 8.308 tune-4cx ]

0.04 — —

0.02 — " —

0 =

-0.02 . —

-0.04 |— —

~0.06 — —

-0.08 :_| | | | | | | [ | | | | | | |_:

o ¥ | ' | -

2 £ ' =

S _ : _

@) B ! _
S 1 \

i) : -

15 B “ _
14 ‘\

0.5 |- i -

| S O S S| S S S W S R [:I .|
0 0.5 1 1.5

Ieft|ytbar{t}right|

Rivet 3.1.10, = 2.9M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


